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1. {Gsin(-1001°) 1L 48 f = FIERE.
[%E—1

sin( —-1001°) = —sin1001°

—sin(360°x 2 +281°)

= —sin281°

Il

—sin(360°-79")

—sin(—=79°)

— (—sin79°)

sin79°,
[ﬂlﬁ-—
sin(=1001°) =sin( -3 x360°+79°)

=sin79°

0. B4 sina:—%, H90°< o << 180°, 3f cosa Kl

te o 1.

(Bi=—
B sin®a +cos?a =1, 90°<a <1807,
4 cosa = —y/1—sin*a,
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. vosina =ga,

o cosa=—’/1—(1—53)2=—h/1)’“%§£~=_%.

_5
tpg = Sime _ 18 5
E® ="Cosa 12— 12°
T13
(EE=I
WEARBMEY, HmERarEd (JL) .
~ sina=—lov—11§~—l—i
4 |OP| = 13K,
IMP| = 5K,

BifgkEE, 8
|OM| =,/ OP* - MP? =,/(13K)?* - (5K)*
=12K,
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mEE 90°<a <180°, 4
cosa <0,
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3, B4 ctgx=-§, Ksinx9{4,
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) Ctgx_ 3 ’ * sinx »
cosx = — 3sinx,

ERFAT Y. &
cos?x =9sin®x,

1 —sin®x=9sin’x,
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s sin X_l—o! sinx = + 10 ;
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Bl x7E48 0L PR, sinx ‘/

e VRN, sinx= -1

(WwE=] ‘
..o ctgx: -3 .
s cosec’x=1 +ectg?x=1+(- 3)*=10,

i s - 1
S ——g—=10 n’x =
sin®x R 15
4 sinx= £V (—)

10 *

W xds TR, sinx= Y10,

XfEH IV RBR, sinx= = V{10,
4, SR{EILy =+ cosx « ctgx HYENXIR,
Kf3E—1
RAFEF MK TR, ficosxSetgxAZRHE S,
Weosx Hetgx[fi] S, x—EfE I DR, BxaRK 1,
HA#x =K (kgii), ctvxm’ét‘{.

S BE¥Iy =4/ cosx - ctgx MENEZ:
2kﬂ<x<2k:rt+n:.
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cosx>0 sx< 0
(1 { =U, =® ) {co Y,
ctgx> 0 ctgx << 0,
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2kt<x< 2k +~723. (kHEER)
BARERAHC2), B8

2k +~§-<x<2kn+n, (kHEEH)
ERERA (1) . (2) WRgaEk, BEBy®
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2k n<<xl2km+ m,
5. REE, RKTRNMHE.
sin*22,5° +sin*67,5° +sin*112,5° +sin4157,5°

(BiE—] -

sin22,5° = sinl57,5°,
sin67,5°=sinl12,5°,
sin67,5° = cos22,5°,

S 1A =2sin422,5° +2sin467,5°

=2(sin%22,5° +co0s422,5°)
= 2] (sin?22.5° + cos?22,5%)?
[

—25in=22.5°cos222.5°]



2 -4sin%22,5%0s%22,5°

=2 - (2sin22,5%0s22°5°)*

=2 —5in%45°
=2 -—_1_=..3_.
2 2
(€5 Junb |
os sin22,5° = cosB7,5°,

sin67,5° = cos22.57,
sinl12,6° = — cos157,5°,
sinl57,5° = —cos112°5°,
S JER = cos467,5° +cos422,5° + cos*4157 . 5°
+cos4112,58"
= c05467,5° +cos422,5° +cos* (1807 - 157,51
+cos4(180°-112,5%)
=¢05467,5° +¢c0s422,5° + cos422,5°
+cos+467,5°
=2(cos422,5° + cos*67,5°)
=2[ c0s422,5° + sin*(90° -67.5%
=2(cos*22,5° +sin*22,5°)

= 2[(c0$"22,5° +5in?22,5°)?
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2(1 ~-1—sinz45°)
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=21__,‘_)_-¥
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EBR=3

cost87,5° +¢cos422,.5°

+cos4112,5°

cos57,5° + cos+22,5°

+cos*(180° ~22,5%) + cos*(1806° - 67

cos467,5° -+ cost22

5% +cos422,5°
+ ¢0s167,5
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. cosa +sina >
6. kI T =tg(457 + ),
il coso —sina ( )

KiEi%E—1

cosa —cos(90° + a )
cosa +cos(90°+ o)

=

_ — 25sin(45° + a)sin( -45°)
2 cos(45° + a )cos( —45°)

_sin(45° + o)
T cos(45° + a)

=tg(45° + a ) = £434.
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[iEZE=]
v = cosa +§/92<ma
e —
2 3
cj*COSa s=a—510:0

_sind5°cosa +cos45°sina
cos45°cosa — sind5°sina

_sin(d5° + o)
T cos(45° + )

=tg(45° + a ) = Ak,




s Eﬁﬁ&jja

o tg45 +tg a
il 1-tgd5°tga

(1 +tga)cosa
(1 -tga)cosa

cosa +sina .
= cosa — sing - =X
R AL,
7. B4 sinx+sin®x=1,
SFIF cos?x +cos‘x=1,

(iEiE—1
sinx +sin’x=1,
sin*x +sinx—1=0,

X, @

sinx= ~ 1 EfV1+4 -125
2 2 .
. . -1+v5
s SiNxX = - ,_2 SIHX_._*__ < 1 (%E)
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2. cos?x + costx =

2 2
5 cos®x +costx=1,
(iEZE3
sipx + sin?x =1,
. . .
sing =1 —-sin’x = cos®x,
sinx = cos’x,
) _‘\ i )3 > -
sin?x = cos*x,
A 1-cos®x =sin’x,
= 1—~cos?x = cos*x,
cos*x kcostx =1,
« cos a i +sina
8. RiE =% .25
1 -s5ina cos @
{if&~}

_ cosa (L+sina )
il = (1 —-sina )(1l +sina )

cosa (1 +sina )
1-sin?a
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_cosa (l+siza)d
cos?a

1 +sina =3
BT = b7 Y

cos a
s JANKAL.
JiEEZ]
4 sin®a +cos?a =1,
A cos®q =1-sin?a,

FRXF BRI cosa (1 -sina ), B
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1+ seca +iga
1 +seco —tga

3. SRiE:

=seca +tga,

{EE~—3
a secta —tgta =1,

s ., secto —tg*o +seca +igu
S Eil= 1+seca —tga

(seca +tga )(seca —tga )+ (seca +tga)
l+seca —tga

l+seca —tga

=seca +tga =FHb.
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° sec’aq —tg?a =1,

. seca +tga _ 1

. 1 " seca —tga "

seca +tga + 1 srtriicfgfj—itga.
1 +seca —tga 1 4

S +
11 i) ccgv‘rtiga =seca +iga,
i +seca —tga
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i = l+seca +tga

T (secta —tgfa ) +(seca —tga )

l+seca +tga
(seca —tga )(l+seca +tga )

1 _  cosa

seca —tga 1 —sina

cosa (1 +sina )

T (I-sina )(1+sina)

_cosa(l-rsma) 1 +sina

1-sin®a cos a
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